Wk 5 Homework
 
1)     Solve  x2 + 7x = 18
2)      Solve  x2 = 13
3)      Solve 3x2 – 1 = 47
4)     Solve by factoring left side first    x2 + 4x + 4 = 25
5)     Solve by factoring left side first    x2 – 10x + 25 = 3
6)      Complete the square  x2 – 12x
7)      Complete the square  x2 – 2x = 8
8)      Complete the square  x2 – 5x = –6 
9)      Solve by using quadratic formula   x2 + 2x – 4 = 0
10)   Solve by using quadratic formula   x2 – 3x - 10 = 0
11)   Solve by using quadratic formula   3x2 – 5x + 1 = 0
12)    Solve by using quadratic formula   9 – 6x + x2 = 0
13)   Solve by using quadratic formula   x2 – 6x + 10 = 0  
14)    Solve by using quadratic formula   x2 – 4x + 29 = 0 
Evaluate the following
 15)  f(x) = x + 4
a. f(5) = 
b. f(–7) = 
c. f(0) = 
16)   f(x) = 6x + 5
a. f(12) = 
b. f(–1/2) = 
c. f(0) = 
17)   h(x) = x2 – 4x + 5
a. h(4) = 
b. h(–4) = 
c. h(0) = 

Wk 5 Team
1)      Simplify

 

      3rd order radical of   – (64)

8) I have a chart with points (-8, -10) and (6, -4).  What is the length between the two points?

Wk 5 Test
WEEK 5  TEST and Review Problems
 
CHAPTER 10 
 

Use Quadratic formula, that's what the chapter was about. Show work on all problems. Due on Monday.  (Don’t forget “i”)

 
1)      Solve by the square root property

 

(2x + 5)2 = 81

 

      2)   Solve by completing the square


 


x2 + 6x – 4 = 0

 

3)      Solve by any method   

 

4x2 – 7x + 5 = 0

 

4)      Solve by any method

 

25x2 – 64 = 0

 

5)      Solve by any method

 

x2 + 6x –1  = 0

 

6)      Solve by any method

 

x2 – 2x = 8

 

7)      Solve by any method  

 

      (x – 3)(2x + 2) = -15

 

8)      Solve by any method     

 

25x2 + 9 = 0

 

9)      What are the x intercepts of:

 

y = 2x2 – 10x + 8

 

10)  What are the y intercepts of:

 

y = - 2x2 + 10x – 8

 

11)  If f(x) = -3x2 – 4x + 5, evaluate for f(-2) and f(3) 

 

12)  If a right triangle has sides (or legs) of 7 and 24, what is the hypotenuse side equal to?  (Pythagorean Theorem)

 

13)   If a right triangle has sides of 12 and 5, what is the hypotenuse side equal to?

 

14)   If a right triangle has a hypotenuse side equal to 13 and one side equal to 5 what is the other side?

 

15)    If a right triangle has a hypotenuse side equal to 16 and one side equal to 9 what is the other side?

 

Review Problems:

 

16)    Simplify: (3x^2 + 7y + 4xy – x^2) – (10y + 2(2xy) –3y + 3x(x) –1)

 

17)    Simplify:  (10x + 15) divided by 5(x+3)

 

18)    What is the area of a rectangle that has sides of (x+4) and 2(x+3)? Simplify.

 

19)     Simplify:  SR(15x^5) divided by SR(3x)

 

20)     Solve:   9 + 3z + 4z = -21 + 2z – 5z 

 

21)     What number(s) is forbidden (undefined) for x to be for:

 

(2x^4 + 4x) divided by (x^3 + 27)

